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Three Addends (2 Digit)

Name:

Solve each of the problems.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

51+54+56=

92+ 75+86=

74 + 33+ 52 =

68 +33+94 =

87+39+48=

21+53+98=

66 + 63 + 80 =

28+ 79+ 27 =

97+26+92=

39+30+97=

718+26+65=

82+46+15=

38+90+73=

94+62+24=

Answers

10.

11.

12.

13.

14.
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ﬂh Three Addends (2 Digit) Name._Answer Key

Solve each of the problems. Answers
1) 51+54+56= 161 61
1.
2) 92+75+86= 253 2. 253
3, 159
3) 74+33+52= 159
4, 195
4) 68+33+94= 195 c 174
6. 172
5 87+39+48= 174
7 209
6) 21 +53+98= 172 8 134
9. 215
7) 66+63+80= 209
10. 166
8) 28+79+27= 134 . 169
9 97+26+92= 215 12 143
13. 201
10) 39+30+97= 166
14, 180
11) 78 +26+65= 169
12) 82+ 46+ 15= 143
13) 38+90+73= 201
14) 94+ 62+24= 180
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JL_

Three Addends (2 Digit)

Name:

Solve each of the problems.

Answers

{

174
215

172
159

195
166

134
161

209
253 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

51+ 54+ 56 =

92+75+86=

74+33+52=

68+ 33+ 94 =

87/+39+48=

21 +53+98=

66 + 63 + 80 =

28+79+27=

97+26+92=

39+30+97=

10.
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